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THE OPEN UNIVERSITY OF SRI LANKA
BACHELOR OF MANAGEMENT STUDIES DEGREE PROGRAMME—LEVEL 04

CONTINUOUS ASSESSMENT TEST - 2015
MACRO ECONOMICS - MCU 2207
DURATION — TWO (02) HOURS

DATE : 27.09.2015 TIME : 02.00 P.M. - 04.00 P.M.

Answer any two (02) Questions
All Questions carry equal marks.
Use of non programmable calculator is allowed.

Question No. 01

(2)

(b)

(©

Firms operating in this dynamic business environment, to stay ahead of competitors,
it is important for a business manager to make effective, timely decisions. How would
the knowledge in relation to macro economic environment of a country help a

manager to make effective decisions? Explain providing examples. (15 marks)
i. What are the major Macro Economic goals of a country ? Explain.
il. What policy measures can the government employ to achieve the Macro

Goals stated in part (i)? How would these policies change according to the
Macro goal the government is trying to achieve ? Explain providing examples.
(25 marks)

In measuring National Incofne, developing countries face various limitations. What
are they? Explain. (10 marks)

Question No. 02

(@)

(b)

Using illustrations explain the following

1. Consumption function
ii. Savings function :
iii Four Sector Circular Flow of income - (12 Marks)

Details of a three sector economy given as; (Figures in Rs. billions)
C = 120 +b Y4 (Consumption function)

T = 80 (Investments)

G = 100 (Government expenditure)
Marginal Propensity to Save (MPS) = 0.2

i. Find the equilibrium level of National Income.

Suppose the government introduces an autonomous taxes of 20 billion (T = 20)
ii. Find the equilibrium level of National Income.

iii.  Calculate the expenditure and tax multipliers.

1 .



(©)

In addition to autonomous taxes, government introduced an income tax of 10% and
transfer payments of 08 billion (TR = 08) R

iv. Find the equilibrium level of National Income. _

V. Calculate the expenditure, tax and transfer multipliers.

The Economy has become open and the following changes have takes pia;cbe.

X = 62 (Exports) M = 64 + 0.1 Y (Imports)
i Why is that the export expenditure autonomous and imports are a function?
Explain.

vii.  What is the level of Marginal Propensity to import in this economy?
viii.  Find the equilibrium level of National Income.
iX. Calculate the Expenditure, tax and transfer multipliers.

Suppose that the domestic currency depreciated and as a result autonomous exports
changed by 7 billion and autonomous imports by 3 billion.
X. Calculate the equilibrium level of National Income. (32 marks)

“As the number of sectors in the economy increases the size of expenditure multiplier -
decreases”. Do you agree ? Explain. (06 marks)

Question No. 03

(@
(b)

(©)

Why is the IS curve negatively slopped and LM curve positively slopped?

(06 marks)
Using illustrations explain the impact of following changes on the National Income
and rate of interest.
® The Central Bank reduces the inter-bank lending rate.
(i)  Government reduces the expenditure on infrastructure development.
(iii)  The Central Bank increases the reserve requirement of Commercial Banks.
(iv)  Government reduces the tax rate
V) Government buys bank the bonds and securities from the public .
(vi)  Average Price level in the economy comes down. (24 marks)

Explain whether you “agree” or “disagree” with the following statements. Use
illustrations where possible.

) The LM curve represents the goods market equilibrium.
(i)  ThelS curve represents the money market equilibrium.
(iii)  Inthe Liquidity trap range fiscal policies are highly effective.
(iv) When the LM curve is perfectly inelastic, monitory policies are highly
effective.
(20 marks)
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